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6 000 SOB)=
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6.1 UJUUoooooooo
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goodgboboobooobuoobooobuoobbobooboobbooboon
googobobbogobbooooodboboboooobboobbuoobboooon
gboudgbboobbodboobboobuoobbobbodoboobboooboob

00000000000
00000000000000 |u),v)0

|U> = U1|].> + U2‘2> —+ U3’3> = ui€ex —+ Uo€2 + uses ,
|’U> = U1|1> + U2|2> + U3|3> = V1€1 + vse9y + v3es
00000000 e,) 000000000000
e;.rej = (i]j) = 0y

ggopoogogoooogo
(Ju), [v)) = (ulv) = ZW’J ilj) = Zuz’%’@j =u'v
ij

oobooooo
OoOob00O RO 10000000

= >l Rs =D 1i) IRl

gbobobuoooobbbdoooobbbooobobboooobbbogd

), 13)) Z k) R, | 1) Ryj) = Z5kleleg > RuiRyj = (R'R);
K

ddooddoooodooodoooooooooodn
(12)',15)") = 04

goooooggon
> RiiRi; = (R'R)y; = 6y
k

(6.1)

(6.2)

(6.3)

(6.5)

(6.6)

(6.7)

000 R=R'000000000000 ROODODOODOOODOO,00000000
goobobbbbbbbbbbbbbdddgdooiooooooooooooon
googbobodbobooouoobuoobboobooboboobbobooboon

0oo
goobooogon

|u') = Rlu) = ZR| Zm it

(6.8)
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gooooon
u' = Ru (6.9)

000,y ,uv,=>,uy0000000000000
gboboooggbbboooobboooobboooobbbooonobooooon
0000000000000000000000000D (Coo)ooooooooo

O-~000000000000O40d
T: G — Hom(V,V) : g~ Dg)

T R} —» V i) e 1 Cluy = u= | wu (6.10)

6.2 JUOOOOOOOOO
gbobooooobbboogobobboood.0obbbooogoboood

1 0 0

RM = 0 cosa —sina
0 sina cosa

cosf 0 sinpg
RY = 0 1 0
—sinfB 0 cospf
cosy —siny 0
Rg?’) = siny cosy O (6.11)
0 0 1

0oooooo
000
1 cos
R 0| =] siny (6.12)
0 0

0000 ROOODOOOO0O000000000O0000000 |i)Y =[1)cost +|2)sine
00000e;000000000000000000000000y0000000000

Oo0o00o0oOoooooooooooooboooooooDbofe,B,y<<1O000D
DoOobooboobooboobo

10
RV ~ | 01 —a
0 a 1
1 08
RY ~ [ 0 10
-6 0 1
1 —y 0
R® ~ [y 1 0 (6.13)
0 0 1
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(000000000000 0000000000000000)
00000000,00000000000
RY =1 —ieJ, (6.14)

ooooo ;0:00000000000000D0000O0

dRY
— T 1
70 oo iJ; (6.15)
gooooood
10 (x0)000000
| 10 0
RY =e @ o1 _jaJy = 0 1 —a (6.16)
0 a 1
gooooo
00 O
Ji=|0 0 —i (6.17)
0 2 O
gobooooooooooooooot
00 O 0 0 = 0 — O
J=l00 =], k=l 000], =i 0 0 (6.18)
0 2 0 — 0 0 0 0 O
Jooooooooooogg
goooono
[Ji, 3] = i€ijn i (6.19)

OubdbdooioodibodidegaUuoabodbooooogn

~1 (ijk)0D0D0D0 (6.20)

1 (ijk) DO OO
Gijk:{
0 OOOobodobod

googobogbbbbooobogobuoobboobboooboonoboonbobo

6.3 LUUOOOOooon
gbobooodb.gbbbd«bbbuogobbbooobbb

R — gmiai (6.21)

gbbooogbobboooobbbooaob
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gbobooogbobobooobbooobbbuooobbbooobbbuooobbo
gooooo

00 O
—ii=100 -1 | =1L (6.22)
01 0
googogog
000
F=—[010]=-1I (6.23)
001
g
L= (=)', (6.24)
gooooooon
B > 1 =L (—1)" — (="
i mym 2n 2n+1
=1 —a™I" =1 ~——a™"] —_ I
¢ +mzzlm!a ! +;(271)10‘ O+;(2n+1)!& !
= 1—Iy+cosaly+sinaly (6.25)
gogd
‘ 1 0 0
el = 0 cosa —sina (6.26)
0 sina cosa
goddoooooooobobod
(e7iliyt = gmiodi — giads o gt — _ ], (6.27)
oooobogo T
(e7)f = giodi = gledi = gt — . (6.28)

gboobogao,

gboboboooobbboooobboboooobobuooon I

OO00000D0O00DO0DOO00bOO0oDo0oOo0obOOooDoOOoooobooDoOooon
0000000000000 000000000 Baker-Campbell-Hausdorff O 0O 0O 0O OO
DO000DO00oO0o0ooooooooooad

Baker-Campbell-Hausdorff 0 O O

XY _

€ e

e XHY + S XY+ H XY XY [t [ XY T+ (6.29)

gboboooooobobooogbon

1 1 1
(1+X+§X2)(1+Y+§Y2):1+X+Y+XY+§(X2+Y2)+-~ (6.30)
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1 1 1 1
H4X+Y+ﬂxyb+;X+Yf:1+X+Y+§mﬂq+;x%mﬂ+XY+YXH~~

(6.31)
godoooooooooooooodgon q.e.d.

oooooooogobo g, 000b00boob g,b0bobooooBcHOOOOODOoO
gbooboooooboboooobboboooobo

Rapy = ¢ 20 (6.32)

gboobogooboobod .
OO00oO0b0ob0oobooboge=6n0000O0

e (6.33)

000000000 JO0D0DO000Nn000000000000000000006 =6

000000000000
000000000000000000000000000000000000000

00000000000000J40000000000000000000000000

00 [, |0000000000000 (J,[,)0000000000000000 S0(3)

000000000 s0(3) 0000000 Lie(G)0000 so(3)000000
0000000000000000

Ezp : g - G (6.34)

gbooooogooood

6.4 U0OOOO

Dobooooooooobooboboboboboobobobobobobobobo
gbuogbobugugbbobbodgbbooobbooobooboboobbbobboan
gbobobuoooobbbuogobbbooobobboooobbbogd
shboudgoooobboobbodooooobbobooooooobobobobogo
Oo0O00o0o00 SO sS00o0fddo0dx—y00OD 2 -/ 000000000000
yy 000000 yOOOOODO 0y 000000, 00000000000 pO0000

1. 2000000 000 REODODOOOOOD 2,y,20 21,y1,20 = 200000
00<a<2r0

2., 000000 000000000 S002-y000000000000C00
0000
RY = RZRYR, (6.35)

gobd00b00odogboobbbyoodbbobooogn z000000
DDDDDDDDD (ml,yl,zl)D (Iz,ygzyl,ZQ)DDDDOSﬁSﬂ'D

3. 00000000
R = RY' R RY, (6.36)

0000 (z2,y2=u1,20) 0 (XY, Z=2)00000 <~ <270
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4. 00000000000000
R* = RER*R*, = R (6.37)

ufufufsfsls
Rap, = R*RY R: = R:R'R? (6.38)
D00000000000000000000000000000000

5. 000000000000 (¢,6,v)000O0O

Rypy = e i0Me=i002p=itls
cos¢p —sing 0 cos 0 sind cosy —siny 0
= sing cos¢ 0 0 1 0 siny cosy 0
0 0 1 —sinf 0 cosf 0 0 1
cos¢p —sing 0 cosfcosty —cosfsiny sinf
= sing cos¢ O sin v cos Y 0
0 0 1 —sinfcosy sinfsinYy  cosf
cosf cospcosty —singsiny —cosfcos@siny —singcosy sinfbcos @
= cosfsin ¢ cos + cos psinyy  — cosfsin¢psiny + cos¢cosyy  sinfsin ¢
—sinf cos Y sin 6 sin ¢ cos 6
(6.39)

6. es0000D0O0O000O0O0O0O0O0O0O0OOOODLOODLODODODODOOOOOOOOOO
ggod

Rype3 = ; . r=(1,y,2), r* =1 (6.40)

00(¢,0)0 S?000000000000000000O0

6.5 UJUoUoon

gboogbbouobbogboobbooobboobooobuoobbooboon
googobuodgbboooobuogbbuodbbooobobuoobbooboboon
DoOobooboooboobg

D:G 3 Ryp, — D(Ras,) € Mat(C) (6.41)
O00000000000000000 Ry, 0000000
D(RaM)D(Ra’B"y’) = D<Ra5'yRa’6"y’) (6-42>

Doboboobooboobooboob

gbboboooobobboooobboooobobooon I

000000000 Hom(V,V)OOOOOOOOOOOOOODOO
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6.5.1 U00O0OO0OOOOO0O0OO0OODOOOd

gobobobboboogooooboobobbodooooobboobobbbooooooon
gbbooodgbbobuooobbbooaob

[ji, jj] = iEijkjk (643)

Doobgbobbobooobooboboboooboboboboboooboobbo

gbboobooogbobboooobbboooobn
gbboooobboooobbooobbooobobbooobbbuooobbn

gbooboogogboboobod
gboboodobbuoggbboodgb2z2zx2b000dbbboogooboogboog

(V) (0 ) (00 om

dodoououooououououougao
0i0; = 0i;1 + i€;,0% (6.45)
dodooododlozx20dodooouoouoouoooououoooooao
[0i,0;] = 2i€;,0% (6.46)

gbooooogoobboooon
2
goobodgdooooggoooooood
{DDDDDDDDDDDDDDDDDDDDDDDDDDDDD@
gobdbooboobdboobdoboobooboboooobobooogoan
gbooodgg

Dy (Ry) = e~ 'a% (6.48)

DbO0d2x20000000000000000000000000O00O0DO0ODOAO
DDDDDDDDDDDDDDDDDDDDDDDDDDD?DDDDDDDj:%DD
gbooooogooood

HRN 2DDDDDDDDDDDDDDDDDDDDDDDDDDDDDU:<u1):

Uz
(ue) 0O0OOO0O0DODOO
Oo0dooo0ooooooooooooon

0 ,—is(Y+d) _ qiny 0 ,—is(d—1)
. —il¢0' —ilos _il¢a . COS ;€ "2 Slin ;e 2
D%(waw) e e e I = ( sinzgei%@)*w) cos gzei%(zﬂwﬁ) ) (6.49)
Proof :
.1 -1
e "2 0 cos? —sin? e Y0
_ _ 2
9= 95(0)92(0)g5(v) = ( 0 ea® ) ( sing cos § ) < 0 eia? ) (6.50)

q.e.d.
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2000 0O00000000000000 (00000000002r000000 4r
0000000000000000000000000 ¢=0,200000000000
00000000000000000000000000000000000000 20
000000000000000000

00000000000000000000000000000000000000
00000 SU()0000000000000000000000

000000 SU(R)D00000000000

SO0(3) =SU(2)/2,00000000000000000000000000000
000000000000000000000000

1 —Zy— SU(2) — SO3)—1 (6.51)

gbooobooooooo

6.5.2 0O0O0O0OO

googobodgbobbooobuoobbodgbbooobbuoobbboooboon
goobogbobogbboobooobooboobboobboobobbooooboon
0000000000000 000@0bO000D000 hatOODODODOOODO)

l.ggobbogboooboboogooboooobobuooobobobuoooooo
gbooboobgoobooboobobbobob

j3 5 ji - jl :l: ng (652)
D000J.00000000000000000J! =J_ 0000000
J=0¢Js+wl +aJ (6.53)

ggooboood
ggbbobuooobobbog

[Ty, Jo] = £Jy , [T, J ] =2J; (6.54)
0000J.00400000 +10000000000000000

2. 00000 (Casimir000)0O
ggoboboooobobod

1
ﬁ:ﬁ+ﬁ+ﬁ=g+?hL+LL) (6.55)

0oooo0od
[J%,J35] =0 (6.56)

Proof :

[Js, Jed-] = [Js, Jo]J- + Ji[Js, J-] = Jp J- — J4J- =0
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[Js, J_Jy] = [Js, J )+ J [Js, Js] = —J Jy +J_J =0 (6.57)
J’000000000000000000000000000000 q.e.d.
noooo
[J%, 7] =0 (6.58)
J’00000000000000000000J?0 ;00000000000

goon

. 0gbobooobobooooboboboboboobobobobnooo Jooo
gboooobobobooJsoboboobobobobooobobobooobobo
gboooboogobgooog

Jslm) =m|m) (M |m) = S = (M| J5Im) = M8 (6.59)
goddosddoddoboooooooooo nOoooooooooooon
4. 00000000 O0OoOoOoOooOn
J3Jilm) = (m £ 1)Jx|m) (6.60)
000000 m|00000
(/[ Jz Jlm) = m/(m'[Jx[m) = (m + 1)(m/|Js|m) (6.61)
000m=m+100000 (w/|Jejm)00000000D0D0DOO
(m —m' £ 1){m/|Js|m) =0 (6.62)
5. bododooooouoooboobooooooooboood
(m|(JoJ- = J_Jy)lm) = (m|Jp[m = 1){m — 1[J_|m) — (m[J_|m + 1)(m + 1|J[m)
(6.63)
oo
f(m) = (m|Jy|m = 1)(m = 1[J-[m) = [(m|J|m — 1)]* = [(m — 1[J-|m)|* (6.64)

0000000000000000000000Y%f(m)000000000O0000
ggbbobuoooobbbouooobobboood

f(m) =[{m|Jjm - 1)POD0ODO

f(m) — f(m +1) = 2m (6.65)

0000000 f(m)>00000

LJim—1)=+/f(m)m) D0D0OJ_|m)=+/f(m)m—-1)000000
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6. highest weight state J’ 000 00000000000000O00O0O0OOOO
o0 fmOO0000O

(ml(3% — F)lm) = S ml(J T+ T T )lm) = S(fm) + fm+1)) >0 (6.66)

goo
(m|J*Im) —m?* >0 (6.67)

000000000m?*00000000000mO00 j>00000

Jilj) o |j+1) =0 (6.68)

D00O(00000000 highest weight state 0 00 00 0 O

fG+1)=0 = f()=2j (6.69)
0000000000000

fm) = 2m+---+2j=2(m+ (m+1)+---+j)
= (J+m)(j—m+1) (6.70)

ERERE

fm)=(G+m)(j—m+1)=7j(G+1)—mm—-1)  (6.71)

goo.

7.000(667)00mO0O0O0OO0O0OOOOJ_ODO0DOOOODOOOmODODO 10O
oo sk00000b00O0Ob0O0ObU0o0Obo0obOmbbOOobDOOobDOoOobDO

J_|j — k) oc JETH5) =0 (6.72)
00000 f(m)=|{(m—1J_|m)?00

fUG-k)=2j—k)(k+1)=0 (6.73)

k>00000k=2/00(00000000 |—;)0000

. b k000D OO

k

DDUDDDDDDDDDDDDDDDDDD@




000 SO(3) 58

9. 00000000000 J?00J,000000,j0000000000
1
P:ﬁ+?LL+JJg:ﬁ—A+LL (6.75)

ERERE

<j7m"]2’jam> = <]7m"]§_J3+J+J*’j7m>
= m® —m+ (j,m|J|m —1)(m —1]|J_|j,m)

= m’—m+ f(m)=34(+1) (6.76)
O00OmO00000

10. 00oboobbooboobbooboggybboobboobobooyuoonDon
gogoobbzy+1000gobbobbououooobbbyoooobboon
goooo

|3, m) (6.77)

000000000000 J2%400000000
Fj,m) = 3G+ Dljsm) , Jslj,m) =mlj,m) (6.78)
000,00000000J.000000

Gom+1|Jelj,m) =/ f(m+1) = /(i + 1) —m(m+1) = (m|J_|m+1)! (6.79)

000000o0oooooogd|y,m) 0000000000000 DOODO0O0OO0O0O0
gogoboboooogad

jym — 1) = ((j +m)(j —m+1))"2J_|j,m) (6.80)

. . . _1 .
gym+1) = (G —m)(J +m+1))"2J|j,m) (6.81)
0oooooooooo's

KDDDDDDDDDD N

1. 00000000 D;0;€i2000000000000(00000)J200
000 j(j+1)0000

2.0000V;000 |j,m0 500000000 (weight)m OO0 OO0 Oweight

mOOm=3j,j—1,---,—j000000V,;02/+100000000
N Y,
13
g =1 = (@9 -lj.4) 1
7.7 —2) = ((25—12)72J_j,j —1) = (2j(2j — 1)2- 1) 2J2 |5, 5)
. . . 1 . 27 —k)! .
Jd =k = (220 = ke DR) M) = [t
1 ] ! .
Gom) = (@G m e DR gy = [ SO iy g (6.82)

(2 —m)!
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6.5.3 0000
1. 000j=000m=4+,000(,,+)00000000000000000

+ e Y1 — T
(551415, =50 =/ /(5) =1 = (ml_|m + 1) (6.83)
ooo
0 1 00
Dy =(1 o) oym=(97) (6:84)
goo
(= | |, m) = md — (6.85)
27m 327m = MOm/m , M = 9 :
0000000 Ji=4(Jy+J), h=—iz(Jy—J)00O
D (J;) = > 6.86
%( i) — 5 (6.86)
000000000000000o0o0n
2.000j=1,m=-1,0,10000000000
10 0 0 v2 0
Js=100 0 CJi=o0 0o v2 |, =J0 (6.88)
00 —1 0 0 O
200 000
JoJ=[020],JJ.,=|020 (6.89)
000 00 2
0000000000000000000000000000000000000
0ooooooog
[+) = |z) +ily), [0) = [2),|—) = |z) —t]y) (6.90)
Jslz) =ily), Jsly) = —i|x) (6.91)
Jily) = ilz), Jilz) = —ilz) . olz) = —ilz), Jo|2) = i]x) (6.92)
(i £ido)|+) = idily) ilo|r) = —[2) £2)
(Ji £ih)|=) = ihly) Fiklz) = —|2) F]|2) (6.93)

O0000000Dy(J;) 00000000000 000 (6.18)0000OOO



000 SO(3) 60

6.6 JUUUOOLOOOOOOLOOObDO

googobodbobooobuodbbooboboobobuoobbooboboooobn
gbbobouodgbobbbooodobbboooobbboooobbodan

gbogobbooodgbbbuoogbbboooobboooobbbooobbo
gooo

l.ggobboboooobbobooooboboobbuoooobo
ggbbobuoodgbobbod

2.000gooboboooobbooooboobobooon

00000000000000000000000000000
Rolu) = 1i) (il Rolj)u; (6.94)

00000 0000000000000 C00O0O000ooooO
00 T, 00000000000 ¢ =Tgr(¢) 000 r00000O0ODODOOO YOO
O000r,,000000000000O000OOM

¢ (r) = (Tro)(r) = ¢(R"'r) (6.96)
000000000000000

TRzTR1¢(r> - TR2¢/(r) - TR2¢(R1_1r) = ¢,<R271r)
= ¢(Ri'Ry"'r) = ¢((RoR1)"'r) = Thym, 6(x) (6.97)

DDDD@DDDDDDDJhDDDDDDDDDDD@
Dod000000:0000000000000000000

TR§¢(F)ZQb(RZ,_lI'):¢($+€y,—€[£—|—y72) (698)
oo ououooouou edbooogo

Tred(r) = (1 —iel,)o(r) (6.99)
DOoOooooooge,
l, = —i(z0, — yOy) (6.100)

Dooooboboboboboboobobobboboooobobobobobo
Ol € (by, 0y, L)
Kk:—ieijkxiﬁj (6101)

gboboboooobbbod

[0li, Zm] = —i0erijzi]0;, Tm) = —iOhempii = —i(0 X L)y (6.102)

4y J00000000000000000000000000000000000000000000
0e 0000
e; = Tr(e;) = e;R;; (6.95)

000000000 PO0O0 0000000000 x;:RZjlw]—DDDDDDD
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gbooboooooboboooobboboooobo
L,=,=xxpO0O000000(@O)00000O00O0O0ODOOOOOOOOOOO

gobobooooon

OO0bO0o0ob00oAOOODOUODOODOODOODODDODODODODOD AROODOOD
gobooogooobooogbon

obobboobooboobooboobon

[ﬁk, Ek/] = ifkk’jgj (6103)
Proof
[gkagk/] = —[(Eijkl’iaj)> (Q/j/k/%/@/)] = _(Eijkxiejj’k’aj’ - Gi/ik/CUi/Eijkaj)

= —(SUk'ak - xkak/) = Ekk/iGijlﬂfjal

= ifkk’jgj (6104)
q.e.d.
DDDDDDDDDDKkDDDDDDDDDDDDD15DDDDDDDDDD

Trsd(r) = (1 — i€l - 1)p(r) (6.105)

boooodobodoboogoooooodooogon

R(@):e—i(iize—iﬁ-i/h (6.106)
Ooooooooooooooboooooobooooooooooooc LooboOoon
000000000000 p,0oooooo0oooooooo R OOOO

6.7 UJUUOOOO
6.71 UO0O0O0OODOOOO

DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD%LkDDDDDD
OO0DO0DbOobO0ooboooonoonDg 6

gbooboooobood
(0 So3)0 0000000000000 0O00DooOoOOooUooDoooUoDOoO
00

Uy = b xily =—i(y0, — 20,) £ (20, — x0,)
= (Fzr —iy)0, £ 2(0, £1i0y) = Fr10, £ 220+ (6.108)

ooe,

(. = —i(20, — y0,) %[(m i) (D — i0,) — (& — iy) (D + i) (6.100)

0000000000000 0000000000 ROOOOO
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goooooooooot
1
Ty =xtiy , 8i:§(8x:Fi8y) , [Op, 2] =[0-,2_] =1 (6.110)
doboooooooooood

ly = F(240, —2204) , ,=2,04 —x_0- (6.111)

goooo
OO0O0O00O00000O0O0DOhighest weight state U0 O OOODOOOOOOOO

0y (z,y,2) =0 (6.112)

gboboooobbobuodiblebbOoOoOn

Uy = aal, (6.113)
0" = (x_0, —220,)" (6.114)
l !
U = (+m) Sl (6.115)

@11 —m)!

6.7.2 0OU0OOOO

gobbbdooobbooobbooobbooobbuooobbuooobboa
oo oboobboobbouuoooooouoooa
oddooouoooobobobobbuooooa
1, R,
H=_—p +V(r)=—=—V"+V(r) (6.116)

2m 2m

gbboooobobboooobbbuoooob

10 0 1
2 _ 2 iy
A=V =35 <r 8r)+r2( 07) (6.117)
1 0 0 0?
2 I P v
14 090 (Sln980)+8¢2 (6.118)

000000000000000000000000 x(r)w(d,¢)000
Pop = anp (6.119)

gboogbobodbobogbobuoobbodgbbooboouobbbooboboon
gbooodg
gbooboboogoboboogoboobood

0 = i(singb%—i—cot@cosgzﬁ%)
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. 0 N,
by = z(—cosqﬁ%%—cot@sm(ba—qﬁ)
0

s = iz (6.120)

gooobbooooooboboooobo

1 9 8 1 8
P=—(——sinf—+ ———— 6.121
Gnoae %86 * o907 (6.121)
0000000000000000000000000000000000000000
0000000000000000000000

goobooogon

b 0 0
pum— 7/¢ _— )
lL=e ((%) + i cot 6_(%) (6.122)
W, 0 0
g _Z¢ —_—— ) —_—
0 =e"( 89+zcot98¢) (6.123)

gbooodgad

6.73 0OU00OOODOOOOOOOOODOO

0000000000000 D004GO0 0000000000 DO0O0O0M
Duobdooobodgbodboogodgbdoogbodgodoooogbooogodn
Oobodabodaoao

0000000 .J,000000¢00000000000000000000006,¢0
00000)jm)00000 Yim(d,¢) = (4,¢|l,m)00000000000000OOOO

<l,m’\jl\l,m> = /dQ<lam/|07¢><97¢’jz|l7m>
_ /d9<z,m'|9,¢>&<9,¢|&m>
_ / A e (00)(Yim (00) (6.125)

0oo

_ / QY (00),Y i (00)

000000000000
1.700000
2. m0O0000
oooood
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™ 2
/ / sin 0dOd¢ (6.127)
0 0
ooodd

OO0o00ob0ob0og000b00b0obobog
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